09:01:31 AM  M:\Standar d\MET RIC\MST 6/765.0GN

02/27/2003

2550 300, 2130 | 870 | 750 | 750 | 1500 /1500 1500 | Standard Guardrail
T Section
150 x 230 schedule 40 pipe . .
A bolted to back of rail (2-20 x See Detall B c NOTES:
® 220 carriage bolts) f ®
Ry, See Standard M6/7-60 for . Unless otherwise shown, dimensions are in
‘ S0 timber guardrail details millimeters.
L. RJ
1! jrrel—aee ] 0, IZ7| s | 2. See Standard M6I7-66 for Sections
— Hﬁ:::::::::::::::" \ I ] I \ I ] I - A-A through C-C, steel rail layouts,
\ and other details.
[ A See Detail A — \LSee note 5 [ = C
3. Use weathering steel for all structural
2- 2930 x 150 x 10 2930 x 150 x 10 2930 x 150 x 10 steel and fastener hardware.
steel rails (Terminal section) steel rail (Transition section) steel rail (Transition section) .
4. Drill the bolt pattern for structural
3415 x 150 x 10 steel tube to match the pattern for
steel rail (Transition section) | the splice plate shown on Standard
M6/7-66.
PLAN
5. For posts 2 and 3, use a 200 x 225
x 300 mm block for the blockout,
Pay Limits Connection to Structure | Pay Limits Guardrail and an MI6 x 650 mm carriage bolt
system STBA or SBTB with hex nut and plate washer.
— B
| 6. Furnish hardware in the metric sizes
7:***********7*‘*:*7.7(;[:;7777* %***F:;}*****7*.%’1’%*.7*****3: ******* ﬁ%’["ﬁ.ﬁ ****** ﬁ shown. Equivalent imperial sizes may
.- == = = e e e = i S e el el ol ettt be used when metric sizes are not
/I | : | | | | | | -] available.
VNN NN VNN ; ; ; ! ; ; VNN ; ; VNN ; ; ST A A ; ; ST AT
[ [ [ [ B\ [ [ [ [ [ [ [ 150 /150
Ground line [ [ [ [ [ [ [ [ [ [ [ [ =t
Post | Post 2  Post 3 Post 4 Post 5 Post 6 |
100 x 150 x 3450 rough [ [ [ [ [ [ [ [ [ [ [ [ roigg ;ajgoﬁ)/;bzogosf |
sawn timber rub-rail C C C C C ‘ L:g?::l
Lo I I L Lo I i
/100 x 150 x 3450 rough !
: : : : : : L L L sawn timber rub-rail ) 1\1
P | N
250 x 300 x 2400 250 x 300 x 2100 i T
rough sawn timber posts rough sawn timber post .
ELEVATION
M6 x 350 40 o
Plate washer Plate washer carriage bolt —4
\ 150 150 \ 50 /50 MI6 x 475 carriage bolt w/hex nut and
| w/hex nut and plate washer plate washer
250 x 300 x 2400 | MI6 x 475 carriage bolt 250 x 300 x 2100 | 200 X 295 x 300 DETAIL C
rough sawn timber post \ }:Q?u::J w/hex nut and plate washer rough sawn timber D&‘ < B D/OC/(O)L(N X
i I RUB-RAI NNECTION
152 x 102 x I3 r@» 100 x 225 x 300 block See Detail C Steel splice plate us L CONNECTIO
x 900 structural ! | - Steel splice plates >/ :i: 150 x 10 x 900
steel tube (See note 4) i /50 x 10 x 900 i Steel rail transition
2- Steel rail terminal tH s o / -1 /00 x 150 x 3450 ———F—= ( it Y/EO x 10 x 2930
150 % 10 x 2930 ST . - A rough sawn fimber rub-roill 1 1. ‘ 390 M6 x 100 lag screw
Ny | /Sgge/x rol raneiion \ ‘ ‘ \ m/ In pre-drilled 10 holes

‘ I I I I
150 x 250 / 300

x 2990
rough sawn
timber rail

150

~—po /T T 7

220
(typ.) Steel rail transition
75 (typ.) 150 x 10 x 2930
22 dia.

M20 x 350 carriage bolt

hole (typ.)
w/hex nut & washer (typ.)

DETAIL A

POST CONNECTION

| gﬁ % 3
|

REG | STATE PROJECT

SHEET NO.

90 deep in timber rails (typ.)

T AN
220 - \— 150 250 2990
(typ.) X o )
75 (typ.) rough sawn timber rail
f()?/ed;?)./p ) M20 x 215 carriage bolt
’ w/hex nut & washer (typ.)
DETAIL B

NO SCALE

U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
FEDERAL LANDS HIGHWAY

METRIC STANDARD

STEEL-BACKED TIMBER GUARDRAIL
CONNECTION TO STRUCTURE

STANDARD APPROVED FOR USE --/----

REVISED:

STANDARD

MG 17-65




